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= 0.25+0.75

Ggsyufnasii= 1mol

b. 0.75mol Na,SO,

pUBMIUAAY

HZO + 2 —
Na,SO,(s) — 2Na (aq)+SO; (aq)

1mol 2mol 1mol

0.75mol 1.5mol 0.75mol

2-

Gestufdtinait=n_ , +n
o 7 1 1 1 Na SO4

= 1.5+0.75

Cle

ssgrufuiiaiu= 2.25mol 1

gHnparg)amusismi

. = 2nNaZSO4 = 1.5mol

= 1.5+0.75

Ggsyufujiaiu= 2.25mol 1

9. AANSIHIEY Mg(NO,), g grums
- ydmimn{uing

Mg+ 2HNO, —> Mg(NO;), + H,

Imol  1mol

1mol 2mol

pitgnan{y

75

ruSwipgfh b fGum 59y

-ANNSIG§SH U HNO,

my Nyno, = CxV

lihtis C = 3M, V = 100mL = 0.1L
= NyNo, ~ 3x0.1 = 0.3mol
-inGgsy Mg(NOs),

mypgmi

Dyg(NOy), ~ 5 X THNO,

I—_ NI

5 % 0.3 = 0.15mol
- g5 Mg(NO,), finiggims
MYm=Mxn
BN M = 24+12x2+16x6 = 148g/mol
n = 0.15mol
= MyeNo,), = 148 x 0.15 = 22.2¢g
My1e(NO,), — 22.2g1

al )

b. tiggaisApEisidumuiGm

%x0.3 ~ 0.15mol

-9182/8 H,

my VHZ =V, xn

fhts V,, = 22.4L/mol, n = 0.15mol
= Vy, = 22.4 % 0.15

Vi, = 3.36L 1

IV. fUTLASTG {HR AU UM A INIME (NE IR

GRS NUINNERUANALR

9. MINUANAHGL ¢

R-CH,-OHY R-CH,O0H

9. CH,—OH U CH,-CH,0H



Imanfdign atgnan|ey UBWwp g bl fiun gibogs

, . H,07] = 107" = 107"'M
HINARASIT ¢
- K
R-CH-OH 4R-CHOH-R, mu: [OH | = —7
R [H;0']
1
2. CHy~CH-OH _ix10™ e
CH, 10°1°
is [oH” ] = 2(OH )
HIUAHAGIIL 3 R—i—OHgR—léOH Vg = 546mL = 0.546L
1 R, _ =
cH, =>n . = [OH ]xVg
4 CH3—f—OH = 107 x 0.546
H3
b.@SAA% I R-C-NH, 4 R CONH, = 546 x 10 "mol
0 myagmi
B Ny,on = Nog— = 546 x 10 'mol
MBAMAFII s R-C-NH-R, §IG:H10 NaOH = 546 x 107 x 40
= 21.84x 10 "¢
3 . ]udl
Mm8AAF I ¢ R-C-N-R, pH+pOH = 14 =pOH = 14-pH
kz =14-10 = 4
2 CH,~C~N=CH . .
38& ’ [OH ] = 107"
H, )
= 107'M
m. tHiey _C—O-R'6R_ _R’ s _
J  R-C-0O-R'§R-COO-R 5 n = [OH ]xV
OH S
Vg = 546mL = 0.546L
8. CH,-COO-CH,
_ 102
V. BN M B — W0 RIS
al o 09 —7
fUHmiLUﬁﬁﬁ URA = 546 x 10 'mol
H,0 _ o
NaOH(s) 2 Na ' (aq)+OH (aq) MEAEMI nygon = 0
_ -7
MY m=nxM = 546 x 10 'moL
o 0o & = -7
M(NaOH) = 23+ 16 + 1 §IG:H180 NaOH = 546 x 107" x 40
= 40g/mol = 21.84x107*g 1
. y)uéo
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NaOH mgnameaigingms

[OH ] = LoPH-14 = 1014

-4

=10 M

n
_ NaOH
(:B =

Vg = ny,om = Cpx Vg

Ny,on = 107 % 0.546
my,on = 40 x 107 x 0.546
My,on = 21.84%10"g

if [H,0 © ] 81[OH ] fasynytissujiy
S mimn{uing
HNO, + H,0 - NO; +H;0"
muypgdmi
Nyo* = PHNO, = 0.200mol
n_ .
H,0
VS
Nty Vg = 250mL = 0.25L

My [Hy0 ]=

_1x10™"
0.8

[OH ] =125 x10"*M

. nyjudl

o

HNO, thgnnaiaginms

=

Tgnanin
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C, = [H;07]
n
C, = HNO,
VS

fintw Vg = 250mL = 0.25L

NyNo, = 0.2mol

0.2
H,0 = C, = =% = 0.8M
= [Hs AT 025
My [OH ] = ___ISYV;_
[H;0 ']
~14
_1x10 —14
= =g 125x107"M"

M. BN pH 1UATAY IS A
rudmiuing

HC1+H,0 - ClI” +H,0"

_ My
Ny ™
My = 1+35.5 = 36.5g/mol
184
= = — = 0.5mol
el = 3675 o
muaEmi
nH30+ = Ny = 0.5mol
+ nH o"
H.O"1= = __
[H,0 ] Vs

NS Vg = 662mL = 0.662L

[ H0"7= -2 = 075M
0.662

=75x10"'M

my pH = — log[H3OJr ]

= — log(7.5 x 10_1)



Tonan#dign PATgNa[Ry aStEgfh b fSun gibogb
= —(log7.5 + logIO_l)
=-0.88+1
pH = 0.121
Y&l

AANSY C, I8fynIwajjit HCI

C, = HC .y = 0662L
VS
_ Mye . _

My, = 36.5g/mol

HCI thinnmaiagin inms

[H,0]1=C, = 75x10"'M
My pH = —log[H,0"]

= —log(7.5x 107"

=-0.88+1

<L

IG: pH = 0.12 7
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100% = %A +%T +%C + %G
100% = %2A +%2C
=>%A = 50%+%C
=>%A = 50%+30% = 20%
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M = Cx 100
30
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compréhension écrite

Complétez les mots “copine, coquillage, parents, mon-
tagne, mer” dans le texte.

Pendent les vacances, avec mes .............. , on allait
toujours au borddela............. , en Bretagne. La-bas,
je retrouvais ma .............. Alice. Le matin, on
ramassait des et I’aprés-midi, quand ’eau
était plus chaude, on se baignait. On était toujours
ensemble. Maintenant, mes parents vontala ...... mais
moi, je vais chez Alice.

. Vocabulaire

Soulignez les intrus.

Exemple: pere frére sceur mer mere
1. chemise  veste chemin chemisier
robe

2. rose verre noir bleu vert
3.boulanger essayer adorer  aimer coliter
4. bras ventre  langue  genou
thermomeétre

5. pharmacie mairie  boucherie boulangerie
librairie

6. téte fievre main jambe  bouche
7. durian orange  €OCO mangue poisson
Grammaire

A. Refaites des phrases en utilisant “sans” selon
I’exemple.

Exemple: Il va au lycée. Il n’a pas d’ argent. — Il va
au lycée sans argent.

Visal lit le texte. Il ne comprend rien.

Ecoutez! Ne répétez pas!

Mon frére passe le bac. Il n’ a pas de documents.
Madame Dany regarde les marchandises. Elle n’
achete rien.

EFERE

B. Utilisez les doubles négations “...ne ... ni...ni” ou
[

..ni...ni...ne".

Exemple: Cette éléve ne lit pas de brouillons, elle ne lit
pas de corrigé.
—> Cette éléve ne lit ni brouillons ni corrigé.

1. Le professeur n’aime pas les retardataires, il n’aime
pas les paresseux.

11 ne sait pas expliquer, il ne sait pas discuter.

Paul n’est pas timide, Marie n’est pas timide.

Ma sceur ne bois pas de biére, elle ne boit pas de
vin.

B
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IV. Expression écrite

Apreés avoir fini vos études, quel métier préférez-vous?
Pourquoi? Donnez vos raisons en écrivant un texte de
80 mots.

AIRNMIBIGING

Compréhension écrite

parents
mer

copine
coquillages
montagne

. Vocabulaire

chemin
verre
boulanger
thermomeétre
mairie
fiévre
poisson

Grammaire

=1LON IO = IS T

Visal lit le texte sans rien comprendre.

Ecoutez sans répéter!

Mon frére passe le bac sans documents.

. Madame Dany regarde les marchandises sans rien
acheter.

P =

1. Le professeur n’aime ni les retardataires ni les
paresseux.

Il ne sait ni expliquer ni discuter.

Ni paul ni Marie ne sont timides.

Ma sceur ne boit ni biere ni vin.

e A

IV. Expression écrite

Respect de la consigne
Vocabulaire
Grammaire

Richesse des idées
Cohérence
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I. Reading.
Read the text and fill the gaps with the words in the box.
Gap one has been done as an example.

practicing  raincoat change be able
offered nothing (1)tennis soaked
relaxed foget drink

A friend in the rain

Last week I was walking home after playing (1)...tennis...
when it started raining very heavily. ‘Oh no, I will get (2)
............ before I reach home, I thought. ‘I wish I had
remembered to bring my (3) ........... .” But unfortunately
I had left it at home. ‘How stupid of me! I always (4)
............ to bring it with me.” Luckily just then a friend
of mine passed in his car and (5) ............ me a lift. © Are
you going home?’ he asked ‘or do you want to go for a (6)
............ ?’ “I think I’d rather you took me home,’ I said.
IfIdon’t (7) «.uonen.n.. my clothes, I know I will fall ill,
and then I won’t (8) ...... to play in the tennis tournament
next week. And I have been (9) ............ hard for the last
month.” ‘I will wait for you to change if you like,” he told
me. ‘I think it’s time you (10) ............ for a change. You
have been worrying too much about things lately. And
people who worry too much fall ill more easily. It’s got
Ay . to do with the rain!

Il. Grammar.

There are four answers after each statement. Only one
answer is correct. Choose the correct letter a, b, ¢, or d.
The first one was done as an example for you.

Example: We haven’t got ...d... money to buy a new car
yet.
a- quite b- too much
c- too many d- enough
. You must have something to eat before
school.

a- go b- going
c- to go d- of go
2. You have never seen this before, ............ you?
a- haven’t b- don’t
c-do d- have
3. This problem ............ by this clever boy last night.
a- will be solved b- is solved
c- was solved d- solved

gATgnan|a g MATenanay

86

ASWEEH bl fium gibogs

4. What ............ you do if you won a lot of money?
a- will b- must
c- would d- have

4. She was cleaning her teeth when the phone ............ .
a- was going to ring b- was ringing
c- rang d- ring

lll. Vocabulary.

There are four answers after each statement. Only one
answer is correct. Choose the correct a, b, ¢, or d. The first
one was done as an example for you.

Example: On Sunday the children have swimming lessons

at the swimming ...... d...... .
a- tank b- well
c- bowl d- pool
1. What are you going to do when you ............ school?
a- conclude b- end
c- complete d- leave

2. The hotel services are bad, so we should write a
............ to the manager.

a- complaint b- message
c- information d- essay
3. Bopha cried out with ............ at the beautiful present
Mr. Kimseng gave her.
a- depress b- horror
c- anger d- delight
4. Is it possible to......... now for next term’s evening
classes?
a- send b- enroll
c- join in d- enter
5. Most parents find it difficult to ......... their children
nowadays.
a- bring up b- develop
c- grow up d- setup
IV. Writing.
Write an essay “ life in the countryside” at least 80 words.
FIRIFIRNOIE RS
I. Reading.
L. tennis 2. soaked 3. raincoat
4. forget 5. offered 6. drink
7. change 8. be able 9. practicing
10. relaxed 11. nothing
Il. Grammar.
I- b - going 2-d have 3-c¢ wassolved
4- ¢ -would 5-c¢ range
lll. Vocabulary.
1- d leave 2-a complaint 3-d delight
4-b enroll 5-a bringup
IV. Writing.
1. Content
2. Grammar
3. Spelling
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